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15.  TRANSMUTATION OF NUCLEUS

15.1. An alpha – disintegration


 the mankind has spent the biggest financial resources for studying nucleus of atoms. It has given, both positive result – an atomic energy, and negative – the nuclear weapon. Comes it is time, when it is necessary to direct all efforts on noegenesis about nucleus of atoms which give only advantage to mankind. However, on this way on former there is an insuperable barrier – absence of the theory of nucleus from which their models would follow. While the drop model of a nucleus is considered the closest to a reality, but it, as well as the drop of water, does not open structure of elements which form it. It is caused by a number of the reasons, but main of them – an inaccuracy of representations about orbital movement electrons in atoms. Survivability of this inaccuracy – probability a fog about behavior of electron in atom, the following from equation of Shredinger. Successfully to disseminate this fog, it was necessary to analyze results of experimental spectroscopy carefully. In it the information on behavior of electrons in atoms and molecules is latent. Fifteen years back this problem has been successfully solved [26]. 


 The careful analysis of a spectrum of atom of hydrogen and other atoms and ions has allowed to find the law of formation of their spectra from which linear interaction of electrons with protons of nucleus of atoms unequivocally followed. Gradual accumulation of the new information on spectra of atoms and ions, has allowed to formulate a number of hypotheses about structure of a nucleus (fig. 164). 


                                        а)                              b)                        c)
                                     d)                              e)                       f)    

                      h)                                  j)                                 g)

Fig. 164: a), b), c) - circuits of nucleus of atom of helium – alpha particles (light - protons, grey – neutrons); d), e), f) - circuits of nucleus of atom of a neon (grey and dark - neutrons);

g), h), j) - circuits of nucleus  oxygen’s atom
            Linear interaction of electron with a nucleus of atom probably only at an arrangement of a proton on a surface of a nucleus. This implies, that the proton has two connections: one with electron, and another - with a neutron. The connection of a proton with a neutron already for a long time is named nuclear, and the forces realizing  it, – nuclear forces. The physical nature of these forces till now is not established. Therefore there was a necessity to find them. The attention to very big intensity of a magnetic field in the center of symmetry of electron, equal 
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  has been inverted. At a proton it appeared much more–
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. As intensity of a magnetic field decreases from the center of its symmetry in cubic dependence the bases for the formulation of a hypothesis have appeared: nuclear forces have the magnetic nature [34]. 

Further, from the experimental information on nucleus follows, that with increase in quantity of protons and neutrons in nucleus the share of superfluous neutrons increases. It means, that the neutron has in a nucleus of more connections, than a proton. For check of this assumption the hypothesis has been formulated: the neutron has six connections. It is quite natural, that in conditions of absence of the detailed information on structure of a proton and a neutron it was necessary to count them for the beginning spherical, with equal radiuses of spheres (fig. 164). The subsequent check of the listed hypotheses by construction of models of nucleus has given such abundance of the information conterminous to experimental data of nuclear physics, that the specified hypotheses confidently have occupied a pedestal of postulates. 

Rules of formation of models of nucleus automatically followed from the experimental information on them. These rules have allowed to construct nucleus of the first 29 chemical elements within several days. There was it in the beginning of XXI century. Since then the author did not try to construct model of more complex nucleus, considering, that is enough of it, that others have continued this work. Certainly, presence of financing of the experimental researches connected to nucleus, would stimulate this process, but it is not present, therefore we shall consider for a long time known nuclear processes: an alpha and beta  disintegrations. We shall start with an alpha - disintegration.

        It is known, that radioactive nucleus let out an alpha – particles – nucleus of atoms of helium (fig. 164, b and c), consisting of two neutrons and two protons. Isotopes of helium can have nucleus with one (fig. 164, а), three and even a plenty of neutrons. The nucleus having two neutrons and two protons, is stable. It is known also, that the magnetic moment of atom of helium can be equal to zero. Such atoms have the structure of a nucleus shown on fig. 164, c. 


 The nearest chemical element which is included in the eighth group together with helium, the neon is. Circuits of models of its nucleus are shown on fig. 164, d, e, f. Apparently, they contain nucleus of atom of helium that fully complies D.I. Mendeleyev's with periodic table. 


 Experiments show, that the alpha – results disintegration in a birth of chemical elements of the chemical elements shifted to the left in the table. If the neon was radioactive and would let out an alpha - particles (fig. 164), its nucleus would turn to nucleus of atom of oxygen (fig. 164, g, h, j), confirming the specified experimental fact. 


 As nucleus of radioactive elements, such as uranium, are not constructed yet we use for the analysis of process an alpha – disintegration of a nucleus of more simple chemical elements, for example, a neon (fig. 164, d, e, f).


 First of all, we shall remind, that synthesis of atom is a process of step rapprochement of electrons with protons of a nucleus and radiation  photons by electronswith length of a wave from a relic range prior to the beginning of a x-ray range. Process of absorption of photons by electrons of atoms returns electrons on higher power levels where to energy of their connection with protons of nucleus can become equal to zero, and they appear free. The condition at which electrons of atom radiate or is absorbed  photons is named excited. When these processes come to an end and electrons fall on the lowermost (close to protons of nucleus) power levels, the atom passes in not excited condition.


 Similarly there are processes of synthesis and radioactive disintegration of nucleus of atoms. Process of synthesis of nucleus is accompanied by step rapprochement of protons with neutrons and radiation scale of photons and photons of a distant x-ray zone. Process of radiation comes to an end at the maximal rapprochement of protons with neutrons and there comes not excited condition of a nucleus. However, in the environment surrounding a nucleus, there can be scale photons or photons of a distant x-ray zone. Protons of a nucleus, absorbing them, again are raised [270].


 In view of stated there is a question on sequence of process an alpha – disintegration. There are bases to believe, that it begins with loss of connection between electrons of atom and the protons, included an alpha – particles, during the moment when it is still connected to a nucleus, and transformation of radioactive atom into an ion. Only in this case radiated an alpha – a particle, instead of atom of helium. 


 The protons an alpha of the particle which are taking place in a nucleus, having released from electrons, have free external connections which allow them to absorb photons. As a result of energy of connections of protons or their sets, similar an alpha – to particles, with neutrons of a nucleus, decreasing, are almost leveled. This property is established experimentally and refers to as saturation of nuclear forces [277].


 Thus connection between a neutron the alpha - particles and other neutron through which an alpha – the particle is connected to other part of a nucleus, can become less energy, formed coulomb  forces, repellent protons. In result an alpha – the particle is pushed out from a nucleus. Process of branch an alpha – particles from a nucleus depends on energy of the photon absorbed by a proton an alpha – particles. It comes only when the absorbed photon, reduces energy of connection between neutrons (places of these connections are shown on fig. 164, d, e j arrows) up to size of the smaller energy forming coulomb forces, nucleus working between protons [270].


 It is known, that the alpha – a particle leaves a nucleus of atom of uranium 
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, having swallowed up a photon with energy E=4.2 MeV [219]. The radius (or length of a wave) this photon is equal 
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            It is a photon the scale of a range started.


 As protons are located on a surface of nucleus they form powerful positive potential which the alpha - pushes out a particle separated from a nucleus, and informs it speed. It is experimentally established, that run of this particle in air can reach 4 see [219]. With a kind, it is small run, but it of more size of a nucleus and the particle on 12 orders. 


 It is quite natural, that an alpha – a particle, having a positive charge, ionizes atoms and molecules of environment in which it goes, and electrons and photons forming a trace of a particle in the environment start to radiate them. It – the main experimental information, allowing to study an alpha – particles and their behavior.

15.2. Beta – disintegration


 Beta – disintegration – radiation electrons by neutrons  which are united in clusters and refer to heavy electrons or negatively charged. The name  of this   particles are beta particles . One of the main reasons beta – disintegration – instability of a neutron in a free condition. The period of its half-decay is equal only 12 minutes. Beta – disintegration is much more complex an alpha – than disintegration, therefore in it more than the inconsistent information [219]. It is accompanied not only processes of radiation of electrons by neutrons, but processes of absorption electrons by protons. The main feature of these processes consists that the balance of mass before disintegration of a neutron and the ambassador is broken, and also absorption by a proton of fractional quantity of electrons. 

           To be rescued from misunderstanding this mysterious phenomenon, physics have thought up a particle which carries away the missing mass, and have named it is neutrino . As is not present uniform experiment of direct registration of this particle to it have given exotic properties – absence of a charge and mass of rest, and also the speed equal to speed of light, and absolute permeability. Surprisingly, but the photon has the same properties, except for absolute permeability, and superb proves in incalculable amount of experiments. Why neutrino, having the same properties, in any way does not prove? On it even have not reflected, continuing attempts to find the experimental facts where neutrino, like would prove. 


 Surprisingly and that experts of the Nobel committee easily agree with so doubtful achievements and continue to give out for them premiums. And why to not look at a mysterious role of neutrino on new?


 It is known, that experiments are direct and indirect. The first at once give necessary result, and the second – only indirect information that the received result corresponds to a reality. Here there are bases to enter concept of a step of indirectly. It is possible to count close to a reality a parameter corresponding to the first step indirectly. The increase in quantity of these steps translates process of knowledge which is named in people: a guessing on a coffee thick. As to neutrino it proves in experiments of 5-th or even in 10-th step indirectly. Nevertheless, scientists keep gravity in an estimation of reliability of such information as refusal of its reliability appears the expensive for vanity. It destroys hardly constructed theoretical building not only nuclear, but also nuclear physics. 


 We are not connected to these errors, therefore we shall act simply: we shall formulate a new hypothesis and we shall look at its fruitfulness. The part of mass disappearing in nuclear processes, not having issued in any particle, figuratively speaking, is dissolved, turning to a substance named an ether. We have already shown, that the ether is the basic source of restoration of mass of electron  after radiation of photons by it. So if the quantity  of the lost mass does not correspond to stable mass of any elementary particle this mass not having issued in any particle, etherifies. And now we shall result quantitative calculations.

         It is known, that mass of rest electron 
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, and mass of rest of a neutron 
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. The difference between mass of a neutron and a proton appears equal 
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 mass of electron.   

           So that the proton became a neutron, it should grasp 2.531 electrons. As the integer of electrons there is a question is absorbed only: where the rest of mass 
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 of electron disappears? The modern physics of this process explains the broken balance of mass simply: a birth neutrino.


 Stated allows to believe, that the proton can absorb not individual electrons, but them clusters. However, in any case the part of electron with mass 
[image: image11.wmf]e

m

469

.

0

remain not absorbed because the superfluous mass is not necessary for a proton for maintenance of its stable condition. Not having generated in any particle, it collapses, turning to a substance which we name an ether. 


 Thus, if the proton of a nucleus absorbs 2,531 mass of electron it becomes a neutron and the nucleus of a new chemical element with smaller quantity of protons is born. It is quite natural, that the new chemical element appears more to the left of old in D.I. Mendeleyev's table.


 It is known, that a neutron, radiate electrons, turns to a proton. It is quite natural, that thus there is a nucleus of the new chemical element located in a periodic table more to the right of an old element.


 In all these cases appears misbalance  of  mass, caused by that electron, the proton and a neutron exist in a stable condition only at strictly certain mass. Certainly, the described processes are accompanied by radiations and absorption scale of photons which bring the contribution to formation misbalance  of mass of nucleus at different stages of their transformation, but we shall not stop yet on the detailed analysis of these processes.

15.3. An artificial radio-activity and synthesis of nucleus

         Experimental process of transformation of one chemical elements in others refers to as an artificial radio-activity.

               In 1932 Bote and Bekker, firing at nucleus of beryllium an alpha – particles, have received nucleus of atom of carbon and neutrons. The equation (410) nuclear reactions and the circuit of its realization (fig. 165) is below submitted.
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Fig. 165. The circuit of reaction (410) (ring neutrons of atom of carbon are designated by dark color)


 In 1934  F. and I. Jolio – Cury have found out, that at an irradiation of an isotope of aluminium 
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 of a nucleus of aluminium turned to nucleus of a radioactive isotope of phosphorus 
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which in the nature does not exist. Nuclear reaction (411) does not clear up the reason of a radio-activity, and scheme  (fig. 166) shows, that reduction of neutrons has condensed a nucleus and coulomb forces of pushing away of protons do it’s a stable. 
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Fig. 166. The circuit of reaction (411)


 It is known, that at division of heavy nucleus thermal energy used on atomic power stations is allocated. We have already shown, that it is consequence of synthesis of atoms of new chemical elements, but not their nucleus. However, on it attempt to receive thermal energy is not paid attention and made at synthesis of nucleus of atoms of helium. Reaction of synthesis of nucleus of helium is submitted below. 
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 The quantity of energy 17.6 MeV impresses and is used, as the main argument for assignment for construction Tokamak. That fact, that the specified energy belongs scale to photons which do not generate thermal energy, is ignored. 

           We now know, that thermal energy is generated only with those photons which are radiated by electrons at synthesis of atoms of helium. It cannot be more sums energies of ionization of two electrons of this atom, namely, there can not be more energy (54.416 + 24.587) =79.003 eV which is radiated at consecutive connection of two electrons of this atom with two protons of its nucleus. If these electrons take up with a nucleus simultaneously each of them cannot radiate energy more than energy of connection with a proton, corresponding to the first power level. It is known and equal 
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. Two electrons radiate 26.936 eV. It is real thermal energy which will be allocated at synthesis of atom of helium. Energy 17.6 МэВ belongs to scale  photons which do not possess the properties generating thermal energy.

15.4. Transmutation of nucleus at plasma electrolysis of water

Cold nuclear synthesis – became the reliable experimental fact at the end of XX century. For check of reliability of this fact we have made two cathodes in mass 18.10 gr. and 18.15 gr. from iron. The first cathode has worked 10 hours in plasmoelectrolytic process in solution KOH, and the second has worked same time in solution NaOH. The mass of the first cathode has not changed, and the second has decreased for 0.02 grammes. The plasmoelectrolytic  reactor worked at voltage of 220 Volt and force of a current (0.5-10) Amperes (fig. 167) [277]. 
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Fig. 167. The circuit plasmoelectrolytic 
reactor (the patent № 2210630 [202]): 1-cover of a reactor; the 4-case of a reactor; the 7-cathode; the 11-anode; 13-dosager a solution; a 16-cooler; a 23-branch pipe for an output of gases  

        Known Japanese scientific (the co-author of this experiment) Tadahiko Mizuno, working in Division of Quantum Energy Engineering Research group of Nuclear System Engineering, Laboratory of Nuclear Material System, Faculty of Engineering, Hokkaido University, Kita-ku, North 13, West-8 Sapporo 060-8628, Japan has kindly agreed to carry out the chemical analysis of samples of cathodes a method of nuclear spectroscopy (EDX.) results of his analysis [197], [198]. On a surface of not working cathode 99.90 % of iron (Fe) are fixed. 


On a working surface of the cathode working in solution KOH, new chemical elements (tab. 47) have appeared.

Table 47. A chemical compound of a surface of the cathode working in solution KOH

	Element
	Si
	K
	Cr
	Fe
	Cu

	%
	0.94
	4.50
	1.90
	92.00
	0.45


The chemical compound of a surface of the cathode working in solution NaOH, appeared to other (tab. 48).

Table 48. A chemical compound of a surface of the cathode working in solution NaOH

	Element
	Al
	Si
	Cl
	K
	Ca
	Cr
	Fe
	Cu

	     %
	1.10
	0.55
	0.20
	0.60
	0.40
	1.60
	94.00
	0.65


      Let's carry out the preliminary analysis received given (tab. 47, 48) in view of models of nucleus of atoms. As iron is a material of the cathode, nucleus of its atoms - targets of nucleus of atoms of hydrogen - protons (tab. 47). At transmutation of nucleus of iron (fig. 168, b) nucleus of atoms chromium (fig. 168, a) and nucleus of atoms of copper (fig. 168, с) are formed [270], [277]. 

At transformation of a nucleus of atom of iron (fig. 168, b) in a nucleus of atom of chromium (fig. 168, а) the nucleus of atom of iron (fig. 168, b) should lose two top lateral protons and two neutrons (fig. 168, a).

                            a)  Cr (24,28)          b)  Fe (26,28)           c) Cu (29,34)                           

Fig. 168. Circuits of nucleus of atoms: а) chromium, b) iron, c) copper

For formation of a nucleus of atom of copper (fig. 168, с) from a nucleus of atom of iron is required in addition 3 protons and 6 neutrons, only 9 nucleons. As on a surface of the cathode (tab. 47) of atoms of chromium which as we assume, were formed of nucleus of atoms of iron almost twice more, than atoms of copper in a solution, undoubtedly, there are superfluous protons and neutrons of the destroyed nucleus of atoms of iron.

We admit, four nucleus of atoms of iron become nucleus of atom of chromium. Then the total of free protons and neutrons  appears equal 16. As on each four atoms of chromium it is necessary one atom of copper 9 nucleons are spent for formation of one nucleus of atom of copper, and 7 nucleons remain free. 

          Let's look, that is formed at destruction of a nucleus of atom of potassium. The potassium it is located in the first group of the fourth period of the Periodic table of chemical elements. Its nucleus contains 19 protons and 20 neutrons (fig. 169, а).  

On fig. 169, and the weak part of a nucleus of atom of potassium is visible. It is located in the middle of its axial neutrons. At transmutation of nucleus of atoms of potassium the nucleus of atoms of oxygen (fig. 169, b) and its isotopes, and also a nucleus of atoms of silicon (fig. 169, с) can be formed


                               a) K (19,20)               b) O (8,8)                    c) Si (14,14)
Fig. 169. Circuits of nucleus of atoms: а) potassium, b) oxygen, с) silicon

The analysis of structure of a nucleus of atom of potassium (fig. 169, а) shows, that it is the most probable source of a nucleus of atom of silicon (fig. 169, c) which atoms appear on the cathode (tab. 47, 48).        

It is uneasy to count, that at destruction of one nucleus of atom of potassium and a birth of one nucleus of atom of silicon 5 free protons and 6 free neutrons that is 11 nucleons are formed [270], [277]. 

Thus, the transmutation of nucleus of atoms of iron and atoms of potassium are results in formation of free protons and neutrons. As protons cannot exist in a free condition from them are born, first of all, atoms of hydrogen. If protons incorporate to neutrons after destruction of nucleus of atoms of iron and potassium the formation of deuterium, tritium and helium is possible.

      Let's pay attention to the main fact – absence in a material of the cathode of atoms of sodium. On the cathode working in solution KOH (tab. 47), atoms of potassium have appeared and it is natural. Why atoms of sodium are absent on the cathode working in solution NaOH (tab. 48)? The answer while one: nucleus of atoms of sodium completely collapse at plasmoelectrolytic process. Presence of potassium on a surface of the cathode working in solution NaOH, (tab. 48) can explain bad washing of a reactor after work with solution KOH.


 As at destruction of a nucleus of atom of sodium there are free protons and neutrons some nucleus of this element start to be completed up to nucleus of atoms of aluminium (fig. 170, b), chlorine (fig. 170, с) and calcium (fig. 65).


                                     a) Na (11,12)       b) Al (13,14)             c) Cl (17,18)                  

Fig. 170. Circuits of nucleus of atoms: а) sodium, b) aluminium, с) chlorine

Certainly, if we knew total transmutation of nucleus of atoms of iron, potassium and sodium and exact structure of generated gases at plasmoelectrolytic process it would be possible to define nucleus of the atoms formed of additional nucleons. Now we can assume only, that the majority of new nucleus protons form, that is nucleus of atoms of hydrogen.

Absence of atoms of sodium on a surface of the cathode (tab. 47) - an obvious attribute of destruction of nucleus of this element at plasmoelectrolytic process. 

The analysis of the resulted tables shows, that transmutation of nucleus of iron of which cathodes are made, results in both cases in formation chromium and copper. Aluminium, chlorine and calcium, apparently, is formed of the destroyed nucleus of sodium. In any of these cases free protons and neutrons are formed  [270], [277].


 However not all free protons and neutrons are spent for construction of nucleus of atoms of aluminium, chlorine and calcium. The part of them goes on formation of atoms of hydrogen. In any of these cases atoms and molecules of hydrogen are synthesized. The analysis has shown, that plasmoelectrolytic process takes from one litre of a solution no more than 0.005 kg of alkaline metal. This implies, that as a result of destruction of nucleus of atoms of iron additional gases, mainly hydrogen can be generated.

Numerous experiments show, that at plasma electrolysis of water is steadily generated up to 50 % of additional thermal energy that is much less than results of the calculations following from existing theories of cold nuclear synthesis. Therefore there is a necessity to analyze power of process of a birth of particles at transmutation of nucleus of atoms.

Considering model of electron, we have established, that it can exist in a free condition only at its strictly certain electromagnetic mass. At connection with a nucleus of atom, it radiates a part of energy as photons and its electromagnetic mass decreases. But stability of its condition thus does not worsen, as the energy which has been carried away by a photon, energy of connection of electron with a nucleus of atom compensates. 

At rise in temperature of an environment electron starts to absorb thermal photons and to pass to higher power levels of atom, reducing connection with it. Becoming free, it again takes up with atom only at downturn of an ambient temperature. In process of reduction of this temperature it will radiate photons and to fall on lower power levels. 

         If electron appears in a free condition as a result of casual external influence on atom and in an environment there will be no photons necessary for it for restoration of its mass it immediately starts to absorb an ether from an environment and to restore thus the constants: mass, a charge, the magnetic moment, spin and radius of rotation. Electron gets a steady free condition only after restoration of all more 20 constants.  


 Thus, if periodic change between a free condition and a condition of connection with atom occurs as a result of casual influences on atom so electron each time restores the electromagnetic mass due to absorption of an ether. That is actually it carries out a role of the converter of energy of an ether in energy of thermal photons.

               Japanese researchers Ohmori and Mizuno have fixed neutron radiation at plasma electrolysis of water and informed, that a source of this radiation can be not only nuclear process, but also process of capture electrons by free protons [197], [198]. 


 As at plasmoelectrilytyic process of electrolysis of water hydrogen plasma in which protons can exist in a free condition are present probability of process of capture they free electrons and transformations into neutrons is generated. At this process we have already described change of balance of mass of particles.


 As photons are radiated and absorbed only by electrons, so the free proton absorbing electrons, is not capable to transform the rest of mass of the third electron into a photon. If electron it is absorbed by the third and more than half of the mass gives a proton, that  has turned to a neutron, the rest of mass (
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 The difference between mass of a neutron and a proton is equal 
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 If from this rest of mass 
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             This quantity of energy corresponds to a x-ray spectrum (tab. 4), therefore the birth of each free neutron should be accompanied by a birth of one x-ray photon. If it is not present, at us remains two outputs: 1 - to consider, that at a birth of a neutron, in a considered case, the mass 
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 was formed neutrino  and has departed in a unknown direction; 2 - in considered process there were no conditions for formation of photons and mass 
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, not having issued in any particle, "was dissolved" on air. What variant is closer to true? The exact answer while is not present, but it is known, that the Japanese researchers have fixed at plasma electrolysis of water only neutron radiation with intensity about 50000 neutrons in a second and have not fixed x-ray radiation [51].


 If thus x-ray photons they would not raise thermal efficiency plasmoelectrolytic process as it - not thermal photons were born. Thermal photons are radiated and absorbed at power transitions of electrons on the most removed from nucleus of atoms power levels where photons with energies 
[image: image37.wmf]»

(0.001-3.3) eV (tab. 4) are generated infra-red and close to them from optical area of a spectrum.


 Thus, processes of synthesis of neutrons at plasma electrolysis of water will not generate additional thermal energy. However occurrence of neutrons in plasma will promote formation of nucleus of deuterium and it is possible - tritium. As at these processes the balance of mass does not change almost we do not have bases to expect occurrence of additional energy at formation of nucleus of deuterium (fig. 47, b) and tritium (fig. 47, c). However it necessarily appears at synthesis of atoms of deuterium and tritium, that is atoms of hydrogen.

        To begin a proton, the neutron should radiate something with mass 
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 This length of a wave corresponds to photons scale of a range (tab. 4), that is not thermal photons  and this process does not give of additional thermal energy. Thus, if at plasma electrolysis of water there is a process of formation of atoms of helium it should be accompanied scale by radiation. If this radiation is not present, and atoms of helium all the same are formed, the specified portion of mass 
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 carries away neutrino or this mass, not having an opportunity to be issued in a photon, "is dissolved" in surrounding space, that is passes in a condition of an ether [277]. As x-ray photons and scale photons are not thermal processes of a birth of neutrons and protons do not give superfluous thermal energy. 

The main energy source of destruction of nucleus of atoms of iron on - seen are microexplosions at connection of hydrogen with oxygen in a zone of plasma. In result, protons of atoms of hydrogen, bombarding the cathode, destroy nucleus of iron. Consequences of this destruction - occurrence of free protons and neutrons. We shall note feature of process. Protons leave a nucleus not as a result of a radio-activity, and compulsorily. Therefore they appear in position with lack of energy, as well as valent electrons of atoms at destruction of molecules. To keep a steady condition, they should fill lack of the energy corresponding to energy of photons radiated scale at synthesis of a nucleus. Where they will take these photons? From an environment. If it so close plasmoelectrolytic  reactor decrease in a natural background scale of radiation should be observed. Repeated measurements have shown, that near to plasma a level scale of radiation less background. 


 Other variant is possible also. Atoms of alkaline metal, bombarding atoms of the cathode, collapse. In this case protons of the collapsed nucleus start to form atoms of hydrogen. Processes of synthesis of atoms and molecules of hydrogen generate additional thermal energy [277]. 

         Thus, the experimental fact transmutation of nucleus of atoms at plasmoelectrolytic process gives us the basis to believe, that this process opens new prospects of studying of a matter at nuclear, atomic and molecular levels. 

15.5. Transmutation of nucleus of atoms in the Nature


 In a seal it was informed, that attempts to deprive I peep sea molluscs and bowls of the calcium necessary for them for formation of an armour, have not stopped process of its growth. It is the telling argument proving an opportunity of trasmutation of nucleus of atoms in alive organisms. To this it is necessary to add, that new breeds of hens bear eggs practically every day, therefore there are bases to believe, as in their organisms there are processes of formation of nucleus and atoms of calcium. We shall analyze possible variants of these processes.

           Let's pay attention to structure of a nucleus of atom of calcium (fig. 66 and 171, а). The top part of this nucleus represents a nucleus of atom of nitrogen (fig. 80 and  171, b). The average part of a nucleus of atom of calcium will consist of a nucleus of atom of lithium (fig. 48, b and 172, а), an additional proton of atom of hydrogen (fig. 80 and  172, b) and an isotope of atom of helium (fig. 47, a and 172, c), and the bottom part of a nucleus of atom of calcium also represents a nucleus of atom of nitrogen (fig. 171, b).


 And now we shall analyze conditions of realization of process of synthesis of a nucleus of atom of calcium. First of all, the bottom and top parts - nucleus of atom of nitrogen (fig. 171, b) have protons only on one end of an axis of symmetry. Other ends come to an end neutrons. It means, that in this area of atom of nitrogen (fig. 92) is not present valent electron, and the bottom neutron of this nucleus can accept additional neutrons and extend a nucleus. Further, the nucleus of atom of lithium (fig. 172, а) has no proton in the top part. It means, that the proton of atom of hydrogen can join a free neutron of a nucleus of atom of lithium (fig. 48, and, b and fig. 172, b) [277].


                                                                                               b)

                                                          а)

Fig. 171. Circuits: а) - a nucleus of atom of calcium Ca (20,20); b) – a nucleus of atom of nitrogen 


                                    а)                                 b)                 c)  
Fig. 172. Circuits: а) a nucleus of atom of lithium; b) a proton; с) a nucleus of an isotope of atom of helium


 Further, at the analysis of spectra of stars, we shall see, that calcium appears in their spectra after occurrence of spectral lines of nitrogen and oxygen. It – the serious indirect demonstration of that nucleus of atoms of calcium are formed of more simple nucleus. Otherwise spectral lines of calcium should appear in spectra of stars after occurrence of lines of aluminium, phosphorus, potassium.


 So, the basic condition for formation of a nucleus of atom of calcium – presence at other nucleus of free superficial neutrons which connect nucleus with each other. This condition is caused by that in an operative range of free neutrons is not present valent electrons of atoms (fig. 88, 92) which would shield this area of atom and complicated process of connection of nucleus [277].


 The second important consequence consists that set of nucleus of more simple chemical elements forms a nucleus of atom of calcium together with the electrons. It means, that there is no process of synthesis of atoms of calcium at which a plenty of thermal energy is allocated.


 Following very important consequence consists that at synthesis of nucleus by connection of their neutrons there is no process of radiation. It means, that the neutron in this case does not radiate and there are bases to believe, that at synthesis of new nucleus radiate only protons. 


 So, the initial information allows experts to analyze processes of synthesis of nucleus is visual and to check their reliability, involving experimental data.

16. THE MAIN LAW OF THE MATERIAL WORLD

          The law of preservation of the kinetic moment - one of the main laws not only lifeless, but also wildlife. Its realization in the Nature is the beginning of all beginnings. To make more precise representation about essence of action of this law, we will address in the beginning to easily observable phenomenon in which it is visible as it works.

      If you looked on TV of competition on figure skating easily recollect how the figure skater changes speed of the rotation concerning an axis which are taking place lengthways his bodies. In the beginning he rotates at the hands dissolved in the sides with small angular speed. Then he presses hands to a breast or lifts them vertically upwards and rotation of him is sharply accelerated. Then, if hands will dissolve in the sides angular speed of rotation of him again decreases. The phenomenon it copes one of the most fundamental laws of the Nature - the law of preservation of the kinetic moment. It says, that if the sum of the moments of the external forces working on the rotating body, is equal to zero the kinetic moment remains to constants [101].
                 So, how the essence of the law of preservation of the kinetic moment is shown? Look, as this law mathematical is expressed: 
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 you at once have  found out Planck's constant. In this constant the Nature also has put in pawn this law. It works in conditions of absence of external influence on a rotating body. If to consider rotation of the figure skater it, certainly, tests external influence. It is shown as the resistance created by air, and also as the forces of friction working on skates of the figure skater. So this law is shown here not in the pure state. But, nevertheless, small resistance of air and ice enable us to see display of this law. 

             And now look at above mentioned expression of a constant of Planck  
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 Mass 
[image: image43.wmf]m

 of the figure skater at the moment of rotation does not change. However distribution of this mass changes. When he plants hands they leave from an axis of his rotation and the moment of inertia 
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 of the figure skater increases, as the quantity  equal to mass 
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 of hands, increased on a square of distances 
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 of their centers of mass from an axis of rotation, grows. At once it is visible: that Planck's 
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 constant has remained a constant, speed of rotation 
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 of the figure skater should decrease. When he (or she) approaches hands to an axis of the rotation you see that will take place with speed of rotation 
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 at 
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 When the figure skater approaches hands to an axis of the rotation the quantity  
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 decreases as the distance 
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decreases. That the size of 
[image: image53.wmf]h

 has remained a constant, speed 
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 of rotation of the figure skater should increase. That we also notice. Certainly, if there was no resistance the figure skater could rotate eternally. 


 We are amazed with a constancy of a constant of Planck. It is confirmed with its many calculations and many experimental data. It specifies that a constancy of a constant of Planck any fundamental law of the Nature operates. And now we see, that this law is the law of preservation of the kinetic moment.

           We have already seen, how this law in behavior of photons of all frequencies is shown, in behavior of electrons at their power transitions in atoms and at formation of molecules, and now we shall show a number of examples of display of this law in the Nature. Certainly, some from these examples are while only hypothetical, their thorough check is required. Nevertheless, they should be resulted to draw attention of researchers to a global role of the law of preservation of the kinetic moment.
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a)
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b)


Fig. 173. The circuit to definition of a direction of a vector of the kinetic moment: 

а) - the circuit of the screw, b) - the circuit of model of electron
     On fig. 173,  a direction of a vector 
[image: image57.wmf]h

 of the kinetic moment, it is simulated by rotation and longitudinal moving of the right screw, and a number shows a direction of a vector of a constant of Planck 
[image: image58.wmf]h

 and conterminous with it on a direction of a vector of the magnetic moment 
[image: image59.wmf]e
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 of electron (fig. 173, b).

          Directions of vectors of a constant of Planck 
[image: image60.wmf]h

 both the magnetic moments of electron 
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 and a proton 
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 are shown on fig. 174. The proton and electron of atom of hydrogen is pull together with their heteronymic electric fields, and their same magnetic poles limit this rapprochement.


 We shall pay attention that vectors of the kinetic moments (spins) 
[image: image63.wmf]h

 of electrons, and protons in atom (fig. 174) and molecules of hydrogen (fig. 175) coincide on a direction. In a similar direction molecule DNK (fig. 176, а) is twirled also. The atoms forming this molecule, really twist it in the left side. The  cone, which grows strictly vertically (fig. 176, b), also are twirled against a course of a hour hand.
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Fig. 174. The circuit of model of atom of hydrogen

[image: image65.png]



Fig. 175. Circuits of molecules of hydrogen
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а)
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b)


Fig. 176. The circuit of molecule DNK and a photo cone 


        So, formation of electrons, protons, atoms and molecules of hydrogen the law of preservation of the kinetic moment operates. If this law works at a molecular level its action should be shown and at formation of organisms. Most brightly it is reflected in the form of snails and sea bowls. The overwhelming majority of them is twirled to the left, against a course of a hour hand (fig. 177). 
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[image: image69.jpg]



Fig. 177. The overwhelming majority of sea bowls is twirled against a course of a hour hand


 Probably, for the same reason at the majority of animals the right forward finiteness is advanced more strongly left. We have bases to believe, that at the majority of people the right hand is advanced more left for the same reason.


 It is interesting to note, that mass of the gyroscope twirled in the right side of less weight of a gyroscope, twirled in the left side. Japanese researcher Hideo Haysaka has experimentally proved, that acceleration of free falling at a falling gyroscope with the right rotation is less, than with left (fig. 178). 


 Stated provokes us to assume, that at a surface of our planet exists weak  right  rotational field. It should amplify in zones where molecules have an opportunity to react to action of such field. For example, molecules of the big congestions of gas or oil which are shielded from strong and often variable external influences, that is in zones of deposits of gas and oil. According to some authors it is fixed experimentally, and the field forming this rotation, is named torsion  field. We have an opportunity to state a hypothesis explaining this phenomenon. 


 Vectors of the kinetic moments 
[image: image70.wmf]h

 of all atoms and molecules of our planet are directed randomly and compensate each other everywhere, except for surface  layer. The vectors of the kinetic moments directed from a surface of the Earth, at those atoms that settle down near to a surface, appear not compensated. By virtue of it they also form weak left    rotational field  
[image: image71.wmf]OL
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, which is named torsion (fig. 178) [92].


 Comparing directions of vectors of the kinetic moments at atom (fig. 174) and molecules (fig. 175) hydrogen, at molecule DNK (fig. 176), at bowls (fig. 177) with a direction of a vector of the kinetic moment of a gyroscope 2 (fig. 178), we see their analogy. 
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Fig. 178. The circuit of formation left  rotational field 
[image: image73.wmf]OL
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at a surface of the Earth

           It consists that directions of vectors of the total kinetic moments 
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 of atoms of a surface of the Earth (with the left rotation) and a vector 
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 left rotation  gyroscope 2 coincide on a direction, and the vector 
[image: image76.wmf]r
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 right rotating  gyroscope 3 is directed opposite to it. In result forces, repellent them, and thus reducing weight of a gyroscope 3 and acceleration of its falling are formed. It is uneasy to see, that the phenomenon reducing weight right rotating of a gyroscope 3 (fig. 178), is similar to the phenomenon of pushing away of moving photons with different circular polarization (fig. 23, b) [277].


 Involuntarily there is a question: if the Solar system and our Galaxy rotate in one side this process should generate a space rotational field? It appeared really so. J.A. Baurov has experimentally proved existence of a space rotational field and a vector describing this field, has named Vector potential [95], [96]. 


 There are the results of supervision showing, that the Vector potential influences formation solar prominence [93], [280]. 

        Certainly, we have resulted the brief description of a circuit of the natural phenomena where influence of the kinetic moment is shown. Such concurrence is hardly casual, therefore it deserves deep studying. 


 From stated unequivocal reliability of interpretation of once superconfidential American flying plate based on effect of "Biffeld-Brown" follows, but we shall refrain from a statement of this interpretation for the known reason.
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